

http://www.mahendras.org/

© SBI CLERK 2022 =

REASONING

PUZZLE & SITTING

ARRANGEMENT

TOP SO0 MOST EXPECTED QUESTION

PART-1

Liveg | 11:30 AM



http://www.mahendras.org/

UPCOMING ONLINE BATCHES |
May 2022

04 May 2022 11 May 2022

BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

18 May 2022

BANK ONLINE LIVE CLASS

25 May 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL BILINGUAL

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI

@ www.mahendras.org ) 7052477777/7052577777



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

debasish chakraborty 14 hours ago

Homework :

1. E(N) PHD R(S) ME D(N) BE N(N) 9 T(N) 8 S(S) 7 A(N) 4 Q(N) 3
2. AV%&1

THANK YOU MAM. AWESOME SESSION.

> &GP REPLY

shubhangi mishra 13 hours ago
H.W.-- Ans.1
Q(N)3rd_A(S)4th_S(N)7th_T(N)8th_W(S)9th_D(S)BE_R(S)ME_E(N)PHd

Ans.2-c¢
Thank you mam

> P REPLY

MNadeem 14 hours ago

& Homework

© Coding Decoding®

@ Ans g Option C

& Thank you Mam@) e &

b &GP REPLY
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1)If the first digit is an even number and the last digit is an odd number, then their codes are to be
Interchanged.
1) 1f the first digit is an odd number and the last digit is an even number then codes of second and
fourth digits are to be interchanged.
1) If both the first and the last digits are an even
number, then both are to be coded as the code for the first digit.
Iv)If both the first and the last digits are an odd number, then both are to be coded as the last
digit.

64) What is the code for “25681”?

a)A&V%!

D) V%&A

C)AV% &!

d)AVY%&A

e)None of these
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There are eight students viz. A, S, D, Q, W, E, R and T
are sitting in a straight line. Some of them were facing
north and rest faces south direction. All of them were a
student of different grades from schoolings to college.
They were sitting in such a way that their grades were
In increasing order from left to right end of the
straight line. No two student studies Iin the same
grades.Note: Their Grades were ranging from 1 to 9,
B.E,M.E and Ph.D. Where Ph. D is the highest grade
and 1 is the lowest grade.

The students sitting at the extreme ends of the line face
North direction. R and E are immediate neighbours
and both faces opposite directions. W belongs to 9"
grade and faces the same direction of A, who belongs
to 4" grade. Only three student sits between A and D;
both faces same direction. Neither A nor D sits at the
extreme ends of the line. S belongs to 7" grade and sits
second to the right of W. Q and T faces same direction.
E has done PhD. There is a B.E and M.E graduates
who sits next to each other. Number of students sitting
to the left of S is one year less than the grade of Q.
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There are eight students viz. A, S, D, Q, W, E, Rand T are
sitting in a straight line. Some of them were facing north and
rest faces south direction. All of them were a student of
different grades from schoolings to college. They were sitting
in such a way that their grades were in increasing order from
left to right end of the straight line. No two student studies in
the same grades.

Note: Their Grades were ranging from 1 to 9, B.E,

M.E and Ph.D. Where Ph. D is the highest grade and 1 is the
lowest grade.

The students sitting at the extreme ends of the line face
North direction. R and E are immediate neighbours and both
faces opposite directions. W belongs to 9™ grade and faces
the same direction of A, who belongs to 4" grade. Only three
student sits between A and D; both faces same direction.
Neither A nor D sits at the extreme ends of the line. S belongs
to 7" grade and sits second to the right of W. Q and T faces
same direction. E has done PhD. There is a B.E and M.E
graduates who sits next to each other. Number of students
sitting to the left of S is one year less than the grade of Q.
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67) Which of the following statement is true? 65) Who among the following studies B.E?
frafafad d 9 o9 T ST Ia 82 faferfad & 9 $19 B.E &7 3a- Hvar 82
a)R sits to the immediate right of D a)R

b)T belongs to 6th grade b)T

c)D sits second to the right of E c)D

d)None is true d)Either Ror D

e)All are true e)Cannot be determined

66) How many students sit between S and R?

S 3R R & Aey fpa faemdf 93 32
a)One
G:?':de G:"a:rclle GZ:de Gr?;e G?;:de ' . b)TWO
c)Three
d)More than three

e)None
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70) How many digits in the number “76498381” 68) What is the position of S with respect to D?
gets repeated if the digits which are less than 5 is D %H-_Q"l-fff S WWH?RIT%?
added by 1 and the digits which are more than 5 a)lmmediate right
is subtracted by 17? b)Third to the right
HE&IT "76498381" H frd 3/ QT &1 & c)Second to the left
uﬁsﬁw&iﬁlﬁﬁﬁéﬁlﬁ%\%ﬁ?sﬁ&m d)Immediate left
3% 1 ¥ 92U ATd 22 e)Third to the left
a)One
b)Two 69) How many students face North?
SUIITEE fam BTl HT gE I B R 32
d)More than Three 2)One
e)None b)Two

c)Three

d)More than three
e)Cannot be determined

3r 4 7th 8th St

d
Grade Grade Grade Grade Grade
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Six persons-P,Q, R, S, T, and U are living in
different floors of a six storey building, but not
necessarily in the same order. The lowermost floor
is numbered as one and the topmost floor is
numbered as six. They belong to different cities. S
lives above floor number four. Only two persons
are living between U and the one who belongs to
Bangalore. The one who belongs to Bangalore lives
below U. The number of floors above S is the same
as the number of floors below the one who belongs
to Jaipur. The one who belongs to Kochi lives two
floors above T. P lives immediately above T. Neither
P nor T belongs to Bangalore. The one who belongs
to Chennai lives above the one who belongs to
Hyderabad. The one who belongs to Hyderabad
does not live above Q. Neither Q nor S belongs to
Mumbai.
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Six persons-P,Q, R, S, T, and U are living in
different floors of a six storey building, but not
necessarily in the same order. The lowermost floor
is numbered as one and the topmost floor is
numbered as six. They belong to different cities. S
lives above floor number four. Only two persons
are living between U and the one who belongs to
Bangalore. The one who belongs to Bangalore lives
below U. The number of floors above S is the same
as the number of floors below the one who belongs
to Jaipur. The one who belongs to Kochi lives two
floors above T. P lives immediately above T. Neither
P nor T belongs to Bangalore. The one who belongs
to Chennai lives above the one who belongs to
Hyderabad. The one who belongs to Hyderabad
does not live above Q. Neither Q nor S belongs to
Mumbai.
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Four of the following are alike a certain way and hence form a
group. Who among the following does not belong to the group?

a) Q

b) The one who belongs to Kochi

c) The one who lives immediately above P
d) The one who lives immediately below T
e) The one who belongs to Jaipur

Which of the following statement is/are true with respect
to the final arrangement?

I. Qbelongs to Chennai.

Il. Two persons are living between S and T.

lll. T lives above U.

a) Only land Il b) Only lli c) All I, Il, and ll1 d) Only Il e)
None of these
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m Who among the following person belongs to Kochi?
““ a) The one who lives immediately below T b) The one
who lives on the fourth floorc) Pd) Te) R
EAENECE

“ Which of the following combination is false with
- respect to the final arrangement? a) R-Bangalore b)
“ Q-Chennai c) S-Hyderabad d) P-Jaipur e) U-Kochi

How many persons are living above P? a) As many
persons below S b) Two c) Three d) As many persons
between U and T e) None
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39 - B[, a9, Jifthdr, SR, sY, ’ Ten persons- Aahana, Tejas, Sophia, Omar, Indhu, Eleg,'
o, AT, U101 3R BIfeTe &l [ 3 Ruby, Balan, Pravin, and Fazil are standing in two staircases
-1 3R Wih-2 ﬁ@@;%l Td® Al | urh viz., Staircase-1 and Staircase-2. Each staircase has five
et g &, 9 % Tad e Rursl e & steps viz., the lowermost step is numbered as one and the

kil Ii'. UGl % 3R e S Wﬁtﬁ. topmost step is numbered as five. Staircase-1 is to the

3 . 3 ¢ SO0 west of Staircase-2. All the information is not necessarily in
?ﬁlz-_ ﬁﬁﬁ%wﬁgﬁ%ﬁ%ﬁéﬁ the same order. Note: If the person's name is starting with
Udh

mmmﬁmww% dRafexfdg 2 vowel, then they are standing on an even numbered
' ] : fa g steps and if the person’s name has an even number of

Th
T arelt Wit R @ST 2 | Udiv 39 AfR & letters, then they are standing on an odd numbered
W%WE@T%EﬁWﬁW%B"Hﬂﬂ%E@T staircase. Pravin is standing above the step of the one who

%I WWE‘% T o1 G T b GﬁTQﬁ?T% stands immediately below Fazil. Only one person stands

%WW% 'AUL %W'\‘ﬁﬁ‘ﬁﬁ between the one who stands immediately above Indhu
e Sl *‘ﬁ%*ﬂ“ﬁaﬁm%. HHT and immediately above Elena. The number of steps above

- o Fazil is th below Sophia. The number of
Tifthar R Vo= & e WS safeaal ot wem R ey O >0PNIa. The numberopersons

standing between Indhu and Ruby is the same as between

Ao TSI mwm—‘%% Sophia and Elena. Balan stands above the one who stands
wﬁw%ﬁw%mww% immediately below Elena. Aahana does not stand below
the one who stands immediately above Balan.
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Ten persons- Aahana, Tejas, Sophia, Omar, Indhu, Elena,
Ruby, Balan, Pravin, and Fazil are standing in two staircases
viz., Staircase-1 and Staircase-2. Each staircase has five
steps viz., the lowermost step is numbered as one and the
topmost step is numbered as five. Staircase-1 is to the
west of Staircase-2. All the information is not necessarily in
the same order. Note: If the person's name is starting with
a vowel, then they are standing on an even numbered
steps and if the person’s name has an even number of
letters, then they are standing on an odd nhumbered
staircase. Pravin is standing above the step of the one who
stands immediately below Fazil. Only one person stands
between the one who stands immediately above Indhu
and immediately above Elena. The number of steps above
Fazil is the same as below Sophia. The number of persons
standing between Indhu and Ruby is the same as between
Sophia and Elena. Balan stands above the one who stands
immediately below Elena. Aahana does not stand below
the one who stands immediately above Balan.
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How many persons are standing above Balan? a) Four b)
Six c) Eight d) Two e) None

Who among the following person stands immediately
below Elena? a) Fazil b) The one who stands on the same
step with Pravin c¢) The one who stands on the same step
with Sophia d) Balan e) Ruby

Who among the following person stands on the same step
with Pravin? a) Tejas b) The one who stands immediately
above Indhu c) The one who stand three steps above
Aahana d) The one who stands two steps below Balan e)
Sophia
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Four of the following five are alike in a certain way and
hence form a group. Which of the following one does not
belong to that group? a) Fazil b) The one who stands to the
east of Aahana c) The one who stands to the north of
Balan d) The one who stands to the south of Omar e) Tejas

Which of the following statement is/are true with respect
to the final arrangement? I. Indhu and Elena stands at the
different staircase Il. Tejas stands on one of the steps
above Pravin lll. Omar stands below Ruby a) Both | and llI
b) Only lll c) Both 1 and Il d) Only Il e) All I, 1, and IlI
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& Afdd gl FHHIGR Ufaaal 3rytd ufed 1 3R
ifd 2 ¥ Ud® Ufad WR uia aafaddl & 91y €6

B,

3R

1155
% 2

3,

Fio12, >

| i AR ST Pt 3NY 374 § SR QW g fafor
3 ¢ | U 1 § A3 yoieh safery ufera

& 3te Al doT g1 Ui 2
Hglz, QP AT

Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each
row. Five persons face north and rest face
south. Each person sitting in row 1 sits exactly
opposite to each personinrow 2. Row 1 is in
south direction of row 2. Z sits third to the
right of Q. Z sits opposite to the person who
sits immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right
of N. R faces the same direction as O. Sand L
face the same direction as Q
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Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each
row. Five persons face north and rest face
south. Each person sitting in row 1 sits exactly
opposite to each personinrow 2. Row 1 is in
south direction of row 2. Z sits third to the
right of Q. Z sits opposite to the person who
sits immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right
of N. R faces the same direction as O. Sand L
face the same direction as Q
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How many persons sit between L and R? A. Two
B. Three C. One D. None E. None of these

If Ris related to Q, N is related to M then i n the
same manner Lisrelatedto __ ?A.ZB.PC. OD.
D E. None of these

Who sits immediate right of the one who sits
opposite to S? A.LB. RC. D D. N E. None of these
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Which of the following statements i s not true?
A. S face the same direction as R B. R sits at the
end of the row C. D sits opposite to P D. O sits
immediate right of L E. All are true

Which of the following is true regarding M? A. M

sits at the end of row B. M sits oppositetoRC. M
sits immediate left of S D. Both a) and c) E. None

is true
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Eight persons-P,Q, R, S, T, U, V, and W were born in
different years but not necessarily in the same order. The
ages of each person are calculated from the base year 2020.
Note: If it is given that A’s age is equal to the last two digits
of the birth year of B, then the age of A will be in any
sequence. For example: If B is born in 1992, A’s age is equal
to the last two digits of the birth year of B, then the age of A
may be either 29 or 92 years. None of the persons were born
before 1980 and after 2012. Q was born in 1992. Only one
person was born between Q and W. Q’s age was equal to the
last two digits of W’s birth year. At least one person was

W‘_ﬂ% W QEET ATI W Gﬁ?‘ R F} ang%aﬂ%rm elder than W. The difference between the ages of W and R is
3(d3 2012 ﬁﬁﬁ@ﬁﬁ@ﬁﬁ%l w3 one year less than the one who was born in 2012. The
tl?ﬁ ICS LI ARIEC R dc %ng number of persons born before W is the same as after T. The
Wﬁ \-,’"-g\—,ﬁ R %mmﬁa 3T YT, g U Al age of the one who was born immediately before R is twice
| KAl 3T, P %ﬂ?ﬁmﬁ'ﬂ the age of U. The age of T is the last two digits of the one
a‘-\r W%I S aﬁ? U B 3T PT who was born immediately after P. The sum of the ages of S

and U is equal to the age of T.

a&m%w% r,s
5‘5:()()

— 2
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Eight persons-P,Q, R, S, T, U, V, and W were born in different
years but not necessarily in the same order. The ages of each
person are calculated from the base year 2020. Note: If it is given
that A’s age is equal to the last two digits of the birth year of B,
then the age of A will be in any sequence. For example: If B is
born in 1992, A’s age is equal to the last two digits of the birth
year of B, then the age of A may be either 29 or 92 years. None of
the persons were born before 1980 and after 2012. Q was born in
1992. Only one person was born between Q and W. Q’s age was
equal to the last two digits of W’s birth year. At least one person
was elder than W. The difference between the ages of W and R is
one year less than the one who was born in 2012. The number of
persons born before W is the same as after T. The age of the one
who was born immediately before R is twice the age of U. The
age of T is the last two digits of the one who was born
immediately after P. The sum of the ages of S and U is equal to
the age of T.
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il
What is the age of U? A. 19 B. 27 C. 28 D. 08 E.

38

1982 | W | 38

. Who among the following person w as born in
n 1989?
g '?he one who born immediately before Q
2001 [U [ 19 C.U
N
ﬁ E. The one who born two persons before U

What is the sum of the ages of R and Q? A. 60 B.
55C.65D.59E.75
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1980 E How many persons were born between the one who was

1981 |V | 390 born in 1981 and the one w hose age is 28?
A. Three

B. As many persons were born between P and W
C. Two D. Four
E. As many persons were born before P

Four of the following five are alike in a certain way to form
a group. which of the following does not belong to the
group?

A. P

B. The one who born in 1982

C.S

D.Q
E. The one who born in 2001
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TRE Ja1 Bl TURE A-3THT AHIRG A TH &
SHUR TP YT ATdT 3 9 f gaa Al e &1 1
FETYH AT, P SR AT AB Bl 2 P
U # 1 911 8 3R 33 dvE 99l SR 91 AP
@) 11 % U H F1 911 8 | IR & i pae di-
ST ATA 2 I R 3T s. a1 1, a1 s & b
SR IG g | fEsT s 3R 6 & §a Haa v {3
a1l fes 6, fesar s & HuR v@1 2| fe 1-H 3R R
& J19 Pad 3l S 3@ MY 7| 1.5 71t / @
T2 | i B § d1a W 3R P Bl A1dT G B HUX
@I | W 3R P & ol T 7T 16 1 H&IT S
3MX B & 1Y T Y SR P HBT & FH 3| I1d
H & SR T T [0 $1 HBIT 8 S N & i v
gmﬁm’ & AT ¢ | ST w 3R 1 & ol
TI%W@WTWF?W@WWﬁ
g'@n AT ¢ | 919 F B 9199 T P 1 3@1 ™1
!

Eleven boxes are kept one above the other in eleven
different shelves such that the lowermost shelf is
numbered as 1, the shelf immediately above is
numbered as 2 and so on till the topmost shelf is
numbered as 11. Only three boxes are kept between
the boxes R and S. Box T is kept immediately above
box S. Only one box is kept between the boxes S and
G. Box G is kept above box S. Only two boxes are
kept between the boxes H and R. Box S is kept
adjacent to box B. Boxes W and P are kept above
box G. The number of boxes kept between the boxes
W and P is the same as the number of boxes kept
between the boxes S and B. The number of boxes
kept above box H is the same as the number of
boxes kept below box N. The number of boxes kept
between the boxes W and J is the same as the
number of boxes kept between the boxes T and F.
Box F is kept below box T
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